ET.
PS

AP

8L

ARENA

ING N
JE VISN CTIO
NNUS%HSANESTRU
ASiTERm%ONTUNG
M%TALLLJAANLE'
IN BA

UF

N
TIO
| A
DINSTAL
E

TIC

NO

19
E: 8.2.20
TE:

DA

806

f ||||||||||||wm‘I|||||||| i T i I
|I“"HH ||||||||||||mm |||||||||||||nuuuumuununu ||||nu\\\\\\\\uuuummmmu‘u \\\\\\\hununhnhmuu M‘ |||||||||||||nuumm
"mmlmﬂm HHHHH“HHH Hmlmummmmm ‘ |||n\muuummmum I
\M“HH"}H”"IH“'I“‘ ||||||||mum iy ||||||||||||||mmm ||||||||||||\u\\\\uumuuuwuuuu
‘ “‘u\}"||I|“|||\mmh“ullm |||||||||uumu ||||||||||nHuHu\\\\u||||||||||||nmmm M
i il il it} ||||||||mumu |||||||||||\\u\u\\\\\u||||||||||||numum iy
th .||lmm‘"|u|“.u ”Huh“m”” |||||||mmmu ||||||||||wmum |||||||||||||muu Il
u'“'HH”HH“ H}hm}}mul W”}HI"IH’”H HHHHWH”H ||||||||n\\\u\u\\\\u|||||||||||||mmmm
m”‘u|l|'|||l”mﬂ'm”uu ‘Illm” i
e
i i il
m“ull',u”ml' il
il il
il
il

||IHHH

I|||I|\H\\H\HHHllIIllllllIIllWH HHHIHHIIIIH\HHHHHIIIlIIIWHH

lIIIIIIIIIIIIIHH I i
||II\H\HHH\HIIIIIIIIIIIIIII\ i II|III||II||HHHHHHHI
IIIIHHHHHHH

i
I ||||||||wuumumuunununuumm
i ||||||mmuummuuuuunmu i
‘ i |||||||umuuuuuuuuuu|
- ! - :mmwm |||||nuumuumlm
WMI umm
[ il ity il
i IIHH‘HHN" H\‘\Illll}HH““"II“H il
ml""||‘wHHhuﬂl""w”‘
|||Iww“||ll
it
Il
i
| 7
”W 77
MW 7
i il it
it il .
MW"W'
i

i
i i
HHMHM" i -
i
i
il
i
; il
e
it
I

muummumm

Il HHH HHHUIIIIlIIIlIIIHHHHH Il

i S

umuuuumuuuuuummmm i

numuumnmummn il

|||||||||HHHHH

||||||||WHHHH

i I IlllllllHHHW

I il

i m”}un'.ul‘

ity i

i il Il

Hﬂummm hm}[hﬂﬂhuuu

i ‘||||II|||H}HHII“|‘\}m\lll

WWWW”W

IHu
i i
il it
il
7
il
il
e
||HHHII'|HI|IV”‘

i
i
il
i
\I“IHI'
it
i
Ml

\Hllll‘i\l\HH\HH
HIHII

it

il ‘M\H\H\\IIIIIIIIIIIIII\HHHH \IIIIIIIIIIIH\\H|I|||III|III|IIHHHHH\H\H“HHIIIIII
i ml\H\H\H\H\II|III|IIIIIIIHH\HH \IIIIIIIIlll\\HH||I|||III|lllll\HHHHHH\H
|I|I\H\H\\H\H\H\\IIIIIIIIIIHH\HHHH \lllllllHHHHHll

IIIIIIIHHH\H
i \IIIIIII\\H\\HH\\\illiiIIIIIIIIIIHHHH\HH i
HHHH \IIIIIIIHHH\H

‘Tummu
mmnuummmnuuunun
||II|H\H\HHHHHIIIIIIIIIIIII
\\H\\\H|IIIIIIIIIHHHHH\H \IIIIIII\\\\\\\\\\llllllllllHHHHH\“
\\H|III|III|IIIIII\HHHHHH I

W"h
|||II|HH\HHHHHIII it
I||IIWH\HHH\H\|II
}H}}HllllllllllllllHHH}

u|||||||||||||'|'i||||||||||nmmmum iu\\\mm\mnnnunun immummnl T iy I
nu||||||||||||n‘;||||||||||||||||||||||||||| ln\w\mmmmununun |uu\\\uuumH.HhHhﬂHMMHHHI “\HHHH
il |u\\\\\\\umnuuuuuuwu I II||I|||I||1\HHHHHHIIIIIIIIIIIIII |\\\\\umuunununum \\\\\\\\\\\\\u||||||||||||nmuummuum il
||||||||||nummmmum |\\\\\\\\\uumuuuuuumu‘uu |||||||||n\\\\mmuuuuuuuun \\\\\\ummmmlmmm \\\\\\\\\H\u||||||||||||nuuummmuuu il
i H\UII"IIIIIIIIHWHHHH \\u||||||||||||nmuumunuum HHH\\\\\UIIIIIIIIIIIIHHHHIJH\ |||||||nHuHmmnumlmnmu H‘\\\WNIIIIIIIIIIIIIIHH \H\\\\\Hu|||||||||||||mmmummnmu Il u|||||||||||||w I
\\\u||||||||||||nHmmmNIIIIIIIIIIIII"H iy \H\\\\\HIIIIIIIIIIIIII\\HHHHHHIIIIIIIHHHHHNIIIII
\\u||||||||||||nmmmmmulI ] I 1|||||||||||n\mmuumnnuum
mmmm\\\\\\\\\\1HIMIIHIIHHHHHHW‘- | |||nu||||||||||u||||||||||||nu||||n||||uuuuuuun iyt iy
nu|||||nu||||||||||||||| i it
mmmmm.IIHHIHHH‘HI‘AHHHIHHIH‘ﬁll S -
i |un\\\\\\\\\\\\u|||||||||||muumm\mn |un\\\\u\\\\\\|||||||||||||nuummmum u..miiin\\\\uuumuuuuuum u\\\\u||||||||||||numuummm |n\\\\\\\\\\\\||||||||||||||wumu g
i
il
il
il
il
WW
il
I
'
““‘H““h'"“
MNWWW
i iy il
||||\Hm li Hi il
\”‘w\“"h““u”“ i H‘||I|||||I‘
WWWM “M%N".
il HH““l\ i ”}HI||I||I||‘HH”||
mu|“|||wu|“ i ”H\'"III“WH‘”HI“
Wu“,|||wn"“ ‘|I|wu“'llll"‘u‘”“
””h““'w”"ul' it I
il |I|“'H‘”'|I|“' il it i
i -

IHHHHHHHI
..|||III|IIIIHHHHHHHI|
I||II||II||II|\HHHH”‘
IIIIII\HHHHHN NIIIIIIIIIIHH

|||I|III\HHH\HHHH“‘

IIHH\\H|I|||IIIIIIIHH\H\HH

Illl\\H\H\||||IIIIIIII\H\HHHH

=

HHHHl!IIl'
HHHHHH i it it
\HHH\HIIIIIIIWHH "
||IIWHHHH\II|III|

iy

il
IWW
i \mmuulll\mm

1 K

33 i

b 0

SO0

)

X 3}

S0 L)

3

i

il I

\WW

ool

i

i

|m‘|\u\\ummuuuuuumu I
i

i i '
i

!

il

il

il il

\ |I”m\‘,||ll

i

il

8

st

‘\

i X

i | Y

il i |1

wE

M ik it

WWWW‘HW

i il I

il I i

|
i |1
m”“uuu
I |I“'|l"”m”|ll”u !
i il il il |
i . i::uwmu::nmiumuw
‘\\"“III""}H"“Il“'w\””}““ il i
1\"'Hll“W\\‘H“ﬂ"‘h\”” '
i

i
uuuuuuuunumuuuuuuuuuu uunuuuuuuumummumuuuuuu I
HHHH“H“IWmumuuumuuuu i
i uuuuuuuuummmuum
it

Ltd
oup

t Gr

t Lappse
igh

yrig

Cop




%
L
APPSET

A
RENA

Q
05806

1(1)

08
09
50
PCS
70
23
41
P
23 48 .
E 90 E 8.2
4 9 x50 1 7 .201
- 07 - % > [ 07 9
3 2
49 23
12x mmmwﬁmwwmm PCs| ~ PCS
3 mmmwwww: o
9O;§556 - HWWW%WW 16 9073 - 7072
54 mwwwww 50 54
E 2030 ||||||||||||||||||||||||||||||||||||||||||||||||| E 1 PCS
4 90 x25 IIIIIIIIIIIIIIIIIIIIIIIIHIIHIIIIIIIIII 10 90
. 77 o || IIIIIIIIIIIIIIIIIIIIHIIHIHHHIIIIIII . 58
O IlI|I|II|II|I|IIIIIIIII|IIIIIIIIIIIIIIIIIIIIIIIII 2 7
~ P P - P
3x2541 N - 12202 = 5 cﬁﬁﬂb éﬁ
s |1 & 5] 07 oo | :::::::::::::::::::::::::::::::::::::: 19 07 , W) 32|
\ 7 31 IIIIIIIIIII|III|IIIIIIII|IIIIIIIIIIIIIIIIIIIIIIII 3 57 )
PCS| 30x PCS| 1030 PCS| ue
] 16x0 || Rad 50825¢ || il 50755 ||
925g’ 7359
PC PC 5 PC
- = - oo - Ios
e e 216/ i 0x60
L L L 8.4 L ’ E x1700 |
= = =
M8
i = =
2 — ] — ] — R
: PCs| PCS| PCS|
(@)
E: — — - - - -
Q
§ P P P
£ i = <
= ] ] ] ] ]
i —
[e]
@)
= i =
PCS| PCS
PCS| PCS
pes
pes




Q05806

8% LAPPSET.

ARENA

ITe)
0o¢ol 0o¢olL
3 0cse 0c¢se 09¢G1 0¢0¢ 0c0¢ 0¢0¢ 0961 0¢s¢e 0¢s¢
X X
(o]
o o o o o ] o o
e X
o
N
o
N
o
(o]
o m
-—
o
2- —1 o o o o
N
o]
o
o
M
m -1 o o o o
S 78:7
(0]
o
N
a O o
~
o M
m o| | ,
N 09¢G!|
] %] & ]
a a — | ] a | ] a
m * NU ﬁu
= (o]
— KX X
. 1
| | I | mau
09Z1 oyl

p3}1 dnoug jesddpT yybrkdon



Copyright Lappset Group Ltd

8% LAPPSET.

ARENA

Q05806

4A

DATE: 8.2.2019
CONCRETE % CONCRETE
Q 2300x700 2300x700
@]
| A o2 &




Copyright Lappset Group Ltd

8% LAPPSET.

ARENA

Q05806

DATE: 8.2.2019

1:125

11370

21160
H

23570

13160




Copyright Lappset Group Ltd

% LAPPSET.

ARENA

Q05806

DATE:

8.2.2019

SA

+1250

+3080

+960

+0




8 LAPPSET. Q05806

ARENA
DATE:  8.2.2019

Copyright Lappset Group Ltd

FOR ELEMENTS WHAT NEEDS TO BE CUT
(<2500mm), PLEASE CHECK DET 8.

DET 1,6,7

DET 9

907654 & 907023




Copyright Lappset Group Ltd

8% LAPPSET.

ARENA

Q05806

DATE:

8.2.2019

DET 3

DET 7

DET 8

After cutting paint
with zinc spray.

DET 9

Spikes
downwards / %
b
B




Co
pyri
ght

L

GppSet G
rou
p Lt
d

"

702448

IS0

\\\\ 8

\\“‘\ o8

\\\““‘ ““‘

\\“““‘ ot
$ s

S

)8 O s
o 8
8

““‘

I“‘
Y\

‘080950 @

il
il
\qul

il

907
3
90732;

M
iy
HHI“HIH"H"
i
I 1
i
Il I

i
i
A II||I|II|II||.
I|I|II|II|I i
I |I|I|II|II|II|II\ I
I|I||I|II|II|III\ i
IIIIIIIIIII\ |I|II|II|II|I il
I|II|I|II|II|II|II|I|| i
|II|II|II|I

VNIV

@-I.EI
Sd
dv

al

a1va

908500



Copyright Lappset Group Ltd

#% LAPPSET.

SPORT

080950

DATE:

28.8.2015

1(2)

{\\\

DET 3

DET 1,2

+960

L/

+0

(1) 906776 |pesf(2) 702341 |pes

1 1
1520x950x7200 |  90x50 | |
(3) 906990

L400
(5) 909214 |pes|(B) 980154 [pcs|
2| 2|
MI2x50 | | @24/13 | |
(7) 907254 |pcs((8) 904728 |pes]
1 10

S

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS




% LAPPSET. 080950

SPORT DATE: 28.8.2015 2(2)

1520

720

1260

DET 1 DET 2 DET 3 ggggtigié\mreoepds Losebecof!j:dﬁve”smtom
M12x50 (909214)

ease the fastening.

Maaliverkko kiinnitetddn ylimddrdiselld
narulla. Kdytd nippusiteitd
kiinnittdmisen apuna.

S
570

@24/13 (980154)

904728

\_ 705797

Copyright 1998 Lappset Group Ltd




707254

DATE:

% LAPPSET.
SPORT

1(4)

18.11.2022

DET 9

NSRS e VAVAVA
INSSSeTaaaay

VAN SRV AYAVAVAVAYAVAVAY/

DET 2—4,14

DET 9

Vi

A m—/

%

(T

Q

)

!"P’dh‘m’ —VAVAVAVAv.yay/

~ LA AARART T

wn 51 S4 (2] w0 wn) 32 " | O
2] 18] HEE HER 8] HER HEE HEE |
E
< E| P KN Fim ® o) ~ ) ~
2 Slfa—\ %9 ]l 783 3z 88 =
x R N > —
0 SEENTY I= ol SIS x| % > | 10 0|0 N
o ok o9 | O 2|0 3129 S|o QO Q
~ 1L = | O SN s|o 2| S| o @
M \ \ 1D
X - Q
© 5® © ©) © &) &) S
51 wv SO [%2] (9] (9] w [%5)
gl-| NES HHEE HES gl | |8~ HES HER |
o T
o) Sl s Siw < o 0| — ) oM [
< x | O o | © 9} o M| m1 Mo ~
00 O |NW x| o o|N o~ | 0 I Nl 0| = 0
< ©|NO <+ O = | = | < = | X x4ﬁ95 S
o 4 5o~ o9 =|o =|o B g|o peg ) @
™~ x |~ \ X | ) o)) Ug s|© o _
o n 7 [\ [
© 2™ a®) © ©) °® © _1® ® o
0 N
_ A —
© © -
9 A
— _ "
L — © a
(&) Ll —
o Ll
(]
(o))
—
T
Ll == / — ————
() v (XS S S SN AN S\ AV
\\\u NNV N NN AN A

3
%W//KA///// ANANANANAN

N AANSL 77~
N S AT AKX N, L T 777

A A N AN NN R SA N\

1//// ANANAVANAN

<7

T i i i s ) WA

py] dnou9 josddoT jybrikdo)



% LAPPSET.

707254

SPORT DATE:  18.11.2022 2(4)
3130 (17) 906829 |cs(i8) 907434 |Pcs|
8| | 2]
,/
Q)
MI0x25 | | 70x50x3800 | |
907843 908069
— +2130 %® ?
/ — I
g [«®
<<
@76x90 | | ©60x87,6 | |
(2) 908070 |pes|22) 908071 |Pcs|
// 2| 2|
/ /
[ U
//f 076,1x2965 | | ©76,1x2945 | |
@9 909248 |pcs
+0 2
=
088.9x610 M2 | |
(25 909256 |Pcs|26) 909287 |cs|
3300 24 20|
MW
016/8.4x1.6 | | Msx80 | |
27 909529 |°cs|@8) 909633 |Pus|
8| 12|
e || owme | ]
081 C 909852 |pcs|30) 980151 |Pcs|
12| 20|
o
3000
M8x30 | | w@16/8.4 | |
@) 980154 |pes(3) 980161 |Pes|@3) 980165 |Pes(34) 999561 |pes|
2 2 2l oy
1 | |\
w2413 | | w0 | | @24/13x2,5 | | -

Copyright 1998 Lappset Group Ltd




Copyright 1998 Lappset Group Ltd

% LAPPSET.

707254

SPORT DATE: 18.11.2022 3(4)
DET 1 concreTe |DET 2 CONCRETE DET 3 wizazo sosem)
©0300x700 @300x700
/ 226 /13x3 (980165)
8 ~ / M12 (902234)
<
R °d
e % ol
O Xl el O O
S N N I
O o o) NE )
) ° CONCRETE
: @300x700
“ .7 Pq » : » g N ’ \I
M10 (980161) DET 5
\‘ M10 ¥20/10.5
o 907/843 @
) PN "
M12x120 (904911) &
@ 0)
& | o
M10x100 (904917)
908070
220/10.5x2 (901302)
@20,/10.5x2 (901302) M10x25
DET 7/ DET 8 DET 9
M8  216/8.4
M10x80 (904133) 904800
/‘ ?16,/8.4
@
. Q0 M8x30
R 3 (909852)
AW
M10 (980161) 707204
/707208

220/10.5x2 (901302)

&

ol
905103

50




% LAPPSET. 707254
SPORT DATE:  18.11.2022 4(4)

DET 13 DET 14
704849 7
/o

M10

M10x100 | 900965
904917

901302

Note! Rotate clip around if you have to
tighten the rope.

DET 10
HUOM: Kiinnitd

solukuminauha
putkipalkkiin 308070 ja
avaa reidt.
- NOTE: Attach the cellular
>/—\ rubber tape to hollow
section 908070 and drill

holes through it.

rN—

@ 909529
N @16 /8.4 (980151)

hiR ///// M8x80 (909287)
Cé?%§® 905112
ootz
(@
905083
. 16 /8.4 (980151)

o //////' M8x70 (909600)
é@i%§®‘/////,
@)
705984 ~._ 905112

Copyright 1998 Lappset Group Ltd




PCS
2
PCS
6
PCS
6
PCS
3
PCS
3
PCS
PCS

1(2)

(%]
g1~
» mB M| o © e A o
N~ ;D ¢ o|Oo o|wn % |0 a ol|©
00 Q1o \ M| = < | < |00 a Rl =
< | * x| X|o 0| D a x| O Q
) x| O 2o Nlo Lo a ® | 0 =
2 -
® JdO) ® ® s “ ®
gl HEE HEE | [8]<] HEE HEE HEN HEN
a. o a. o a | v« a | v« a. (=
- ©
© Yo < & Do < <
o0 3l™ o~ = Q< o) M
N~ a0 | — = | = Nl | = <
< o | N 00 oD x | O — | O <
o WO,( o %% N O S| S
™~ S| @ N o x 5|9 @ S
==— 14} (o2}
© " ©) © 5 |© ©) ®
M
T
Ll
O

2.11.2018

DET 6

707223

DATE:

% LAPPSET.
FINNO

‘\/‘ﬂ/ /\\\/\\\\\\\\\\@
\ NS S S
/ .//\/\\\\\\\\\
\

+3140
+2580
+0

NASLSLS S S S S S
./\v\\\\\\\\

SRR
e
RS

/ @ \.\%’ﬂﬂﬂ"

DET 4, 5

370
]

p17 dnous jesddo jybhdon



LopYrignt 1995 LappsSet Group Lta

% LAPPSET.

707223

FINNO DATE: 2.11.2018 2(2)
DET 1 DET 2
V8
Eﬂﬁiﬂ%ﬁ;\\\ﬂk<> (980160)
© 216 /8.4
M12 i @mégaw
(909644 )\ . /
@24 /13 A Ny ;
(980154)
704879
704796 ~ MEx U
MT12x120 (909852)
(909110)
DET 3 DET 4
M1T2x40 @24/15
(909109)
(980154) -
9 M1 2
. /Wl £/(909644)
/ﬁ ;:O
/ \ 902830
DET 5 DET 6
704879 M12x7120
(909110)
024/13 M1 2x40
(980W54) (909WO4)
(909644)




16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOVANH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

e,
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com



% LAPPSET.

702448

ARC SPORT DATE: 20.11.2018 1(2)
(1) 909949 |ps|(2) 909956 |Pcs|

i 1 K

? 7 (3 909959 [es|(4) 903315 |Pcs|

2] 1]

(5) 910213 |rcs|(6) 910541 [ees

: J 2] 1]

M[ | 1em | ]

+2535

+0

Copyright Lappset Group Ltd

470




8 LAPPSET. 702448
ARC SPORT DATE: 20.11.2018 2(2)

&)

300
DET 3
@ b
@ b
@ b
@ b
@ b
@ b
@ b
@ b
@ b
@600x550
Y /// o} OS Q,O YA /
Vi 2 //// 7 \Oooo° %o & g &
i 7 //// 8('5@ Q?Q? /// o
77 o & L o NN
@) -G d Al /
y : o} p
I o PP 74 77
o d o 0

Copyright 1998 Lappset Group Ltd

910541






